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QUESTION 1

An identity hierarchy specifies a list of identities and the order of precedence of those identities. Which listing of
identities is ranked from highest priority to lowest priority?

A. User, direct group, indirect group, SASUSERS, PUBLIC
B. User, SASUSERS, PUBLIC,directgroup, indirect group

C. SASUSERS, PUBLIC, User, direct group, indirect group
D. direct group, indirect group, User, PUBLIC, SASUSERS

Correct Answer: A

QUESTION 2

Which of the following is NOT a method you could use to restore your SAS environment?
A. Use the restore job created by the Backup Wizard.

B. Execute the restoreServer.sas program.

C. Write custom code to invoke the OMABAKUP macro with the RESTORE option enabled.
D. Use the RESTORE macro.

Correct Answer: D

QUESTION 3

How many object spawners, at a minimum, need to be defined in the metadata?

A. One per machine running a stored process server, workspace server, and/or pooled workspace server.
B. One for each type of server instantiated byanobject spawner.

C. One for every three servers that need to be instantiated by an objectspawner.

D. Never more than one per environment.

Correct Answer: A

QUESTION 4

A host is using an LDAP provider as a back-end authentication mechanism. For this setup, how does the SAS server
view the authentication?

A. integrated authentication
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B. back-end authentication
C. internal authentication
D. host authentication

Correct Answer: D

QUESTION 5

An internal account is used to provide the initial connection to which server?
A. workspace server

B. stored process server

C. SAS/SHARE server

D. metadata server

Correct Answer:
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